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3.  

a)  
b)  
c)  
d)  
e)  
f)  

 

MATHEMATICS  Do Exercise 3.3 Q1 to 76 and Exercise 7.3 Q1 to 60 from NCERT Exemplar in 
H.W. register  

 

ACCOUNTANCY Make Comprehensive project containing 

 20 to 25 journal entries  

 Posting to ledger accounts  

 Preparation of trading and profit and loss account  

 Preparation of Balance Sheet 

 Graphic presentation of  direct expenses , indirect expenses , non-current 
assets, current assets , non-current liabilities, current liabilities  

BUSINESS 
STUDIES  

Make a powerpoint presentation on any one of the following : 
1. Digitalisation in the Indian Economy 
2. Sensex  
3. PSU Bank Mergers  

ECONOMICS Make a project file using all statistical methods (namely collection of data , 
organization of data , presentation of data, analysis and interpretation of data ) 
showing the consumer awareness of a particular product.  

PHYSICS Complete the attached assignment  
Prepare an investigatory project on any topic related to Physics .  

CHEMISTRY Complete the attached assignment on Hydro carbons  
Prepare an investigatory project on any topic related to Chemistry.  

BIOLOGY Do the project work  

COMPUTER 
SCIENCE 

Prepare a program file containing minimum 20 programs from chapters 10, 11, 12. 

PHYSICAL 
EDUCATION 

Prepare project file of the following topics: 
1. Any 5 games including ς 

 History of games 



 Ground specification 

 Rules of the games  

 Main competitions 
2. Any 5 yoga asanas with their benefits  

 

 

 

PHYSICS ASSIGNMENT – CLASS XI 

1. The frequency of vibration of a string depends on the length L between the nodes, the 

tension F in the string and its mass per unit length m. Guess the expression for its 

frequency from dimensional analysis.    

(Ans : 
m

F

L

k
) 

 

2. The kinetic energy K of a rotating body depends on its moment of inertia I and its 

angular speed . Assuming the relation to be K = k I
a 

w
b
 where k is a dimensionless 

constant, find a and b. Moment of inertia of a sphere about its diameter is 2 Mr
2
/5. 

(Ans: a=1, b=2) 

 

3. Find the area bounded under the curve y = 3x 2 + 6x + 7 and the X-axis with the 

ordinates at x = 5 and x = 10.       (Ans : 1135) 

 

4. The electric current in a charging R-C circuit is given by i =io exp(-t/RC) , where io, R 

and C are constant parameters of the circuit and t is time. Find the rate of change of 

current at (a) t = 0, (b) t = RC, (c) t = 10 RC. 

(Ans: (a) -io/RC (b) -io/RCe (c) -io/RCe
10

) 

 

5. A police jeep is chasing a culprit going on a motorbike. The motorbike crosses a turning 

at a speed of 72 km/h. The jeep follows it at a speed of 90 km/h, crossing the turning ten 

seconds later than the bike. Assuming that they travel at constant speeds, how far from 

the turning will the jeep catch up with the bike ?  (Ans : 1 Km) 

 

6. A person is standing on a truck moving with a constant velocity of 14.7 m/s on a 



horizontal road. The man throws a ball in such a way that it returns to the truck after 

the truck has moved 58.8 m. Find the speed and the angle of projection (a) as seen from 

the truck, (b) as seen from the road.  (Ans: (a) 19.6 m/s upwards (b)24.5 m/s at  

            53
o
 

with horizontal )  

 

7. Find the acceleration of the 500 g block in figure shown below. 

 

  (Ans : 8g/13 downwards ) 

 

8. Figure (5-E21) shows a man of mass 60 kg standing on a light weighing machine kept in a box 

of mass 30 kg. The box is hanging from a pulley fixed to the ceiling through a light rope, the 

other end of which is held by the man himself. If the man manages to keep the box at rest, 

what is the weight shown by the machine ? What force should he exert on the rope to get his 

correct weight on the machine ? 

  (Ans : 15 Kg, 1800 N) 

 

9. The coefficient of static friction between the block of 2 kg and the table shown in figure 

given below is ɛs = 0.2. What should be the maximum value of m so that the blocks do not 

move ? Take g = 10 ms
-2

. The string and the pulley are light and smooth. 

 



 (Ans : 0.4 Kg) 

 

10. Find the accelerations a1, a2, , a3 of the three blocks shown in figure given below if a 

horizontal force of 10 N is applied on (a) 2 kg block, (b) 3 kg block, (c) 7 kg block. 

Take g= 10 ms
-2

.    

(Ans : 

       ) 

 

11. A car goes on a horizontal circular road of radius R, the speed increasing at a constant rate 

dv/dt = a. The friction dt coefficient between the road and the tyre is ɛ. Find the speed at 

which the car will skid.   (Ans : [(ɛ2
g

2
-a

2
)R

2
]
1/4

) 

 

12. A particle of mass m moves on a straight line with its velocity varying with the distance 

traveled according to the equation v = ax
1/2

, where a is a constant. Find the total work 

done by all the forces during a displacement from x = 0 to x = d. 

(Ans : ma
2
d/2 ) 

 

13. A thin spherical shell lying on a rough horizontal surface is hit by a cue in such a way 

that the line of action passes through the centre of the shell. As a result, the shell starts 

moving with a linear speed v without any initial angular velocity. Find the linear speed 

of the shell after it starts pure rolling on the surface. (Ans : 3v/5) 

 

14. A uniform rod pivoted at its upper end hangs vertically. It is displaced through an 

angle of 60° and then released. Find the magnitude of the force acting on a particle of 

    mass dm at the tip of the rod when the rod makes an angle of 37° with the vertical. 

(Ans : 0.9 ã2 dm g ) 



 

15. A mass of 6 x 1024 kg (equal to the mass of the earth) is to be compressed in a sphere in 

such a way that the escape velocity from its surface is 3 x 10 8 m/s. What should be the 

radius of the sphere ?     (Ans : ~ 9 mm ) 

 

16. Water flows through a horizontal tube as shown in figure given below. If the difference 

of heights of water column in the vertical tubes is 2 cm, and the areas of cross-section 

at A and B are 4 cm 2 and 2 cm 2 respectively, find the rate of flow of water across any 

section. 

  (Ans : 146 cc/s) 

 

17. A steel rod of cross-sectional area 4 cm2 and length 2 m shrinks by 0.1 cm as the 

temperature decreases in night. If the rod is clamped at both ends during the day hours, 

find the tension developed in it during night hours. Young's modulus of steel = 1.9 x 1011 

N/m2.          (Ans : 3.8 x 

104 N) 

18. Steam at 100o C is allowed to pass in to a vessel containing 10 g of ice and 100 g of water at 

0o C, until all the ice is melted and the temperature is raised to 5o C. Neglecting water 

equivalent to the vessel and the loss due to radiation etc. Calculate how much heat is 

condensed .    (Ans : 2.13 g)  

 



 


